
Analysis 1
Quiz 5

Name:

You have 10 minutes to complete this quiz. If you have a question raise your hand
and remain seated. In order to receive full credit your answer must be complete,
legible and correct. Show your work, and give adequate explanations.

1. Write a formal sentence expressing “
∑∞

k=1 ak is conditionally convergent”.

The sentence I write will express “
∑
ak is convergent, but not absolutely conver-

gent”. I will use the Cauchy Criterion to express convergence.(
(∀ε > 0)(∃N)(∀i, j)((j > i > N)→ (

∣∣ai+1 + · · ·+ aj
∣∣ < ε)

)
∧ ¬

(
(∀ε > 0)(∃N)(∀i, j)((j > i > N)→ (

∣∣|ai+1|+ · · ·+ |aj |
∣∣ < ε)

)

2. Complete this definition of a topology on X: τ is a topology on X if τ is a
collection of subsets of X satisfying

(1) ∅ ∈ τ .

(2) X ∈ τ .

(3) τ is closed under arbitrary union .

(4) τ is closed under finite intersection .
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